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INSTRUCTIONS

nr 1liT~ ~ <€t qq (jqi 'I ~ 0fG[ (jqi ~ 'I "W[ 1 / Do not open this test booklet until you are asked to do so.

1. At the start of the examination before attempting the question

paper kindly check your test booklet and OMR Answer Sheet

and ensure that ;-

>- The serial numbers of test booklet and OMR answer sheet are

same.

>- All pages of test booklet& OMR answer sheet are properly

printed and test booklet is not damaged in any manner. No page
of test booklet is missing.

In case of any discrepancy/defect the candidate should immediately

report the matter to the invigilator for replacement of test booklet&

OMR answer sheet. No claim in this regard will be entertained after
five minutes of start of examination. Candidate will be liable for it.

2. Answer all questions.

3. All questions carry equal marks.

4. Only one answer is to be given for each question.

S. If more than one answers are marked, it would be treated as
wrong answer.

6. Each question has four alternative responses marked serially as
1,2,3,4. You have to darken only one circle or bubble indicating
the correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

7. 113 part of the mark( s) of each question will be deducted for

each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question. Leaving all the

relevant circles or bubbles of any question blank will not be
considered as wrong answer.)

8. Possession or use of Mobile PhonelBluetooth Devices or any
other electronics gadget in the examination hall is strictly dealt

as PQrrules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.S Marks
will be deducted for filling wrong or incomplete Roll Number.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English Version of thequestion, the
English Version will be treated as standard.

'Yarning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, EI.R. would be lodged against

him/her in the Police Station and he/she would liable(0 be prosecuted
under Section 3 of the State Prevention of Unfair means Act,

1992 and Board Regulations. Board may also debar him/her
permanently from all future examination of the Board.
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1) Consider the following statements.

According to 73rd constitution amendment;

a) Panchayat Raj Act in Rajasthan was introduced on 23rd April1994.

b) It is compulsory to call the meeting of gramsabha twice 'during a year.

c) It is compulsory to reserve one-third seats for woman at all levels of Panchayati Raj.

d) One-third reservation is also compulsory forScheduledCastes and Scheduled Tribes.

Which of the statement/statements given above is/are correct? Select the correct answer on the basis

of code given below:

1) a and b only 3) a,b and conly 4) a and d only2) c and d only

1) ffi q)~. tR ~ ~. 73if \tfcrm;, B~m~ JfjffiUT it.
a) cj:qI~\1"I"(Nf ~ ~ it 23 ~ 1994it ~ fcw:rr ~.
b) nP1 B'l1Tq)f qtf it eJ ~ ~ ~t I

c) cj:qI~\1"I"(Nf ~ B1fr ~ tR ~0TI q)f 1::% ~ \3ffi&lUT~ ~ I

d) 0lj~R1~ ~ ~ 0ljG1~~~ ~ ~ ~ mzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAWfi·~ \31R~ ~ 5 I

\jQ(lCffl Cf)~/CI?~ it ~ ~ ~ ~ ? ~ ~ 1ft;zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAw::.~ 0lT~ ~ ~ i3n< ~ :

3) a,b~c~ 4) a~d~

,

2) Which of the followings are fundamental duties of the citizens in the Indian Constitution ?

a) To respect national flag and national anthem.

b) To render national service when called upon to do so.

c) To endeavour social reforms.

d) To' value and preserve the rich heritage of our co:nposi~,eculwre~

Which of the statements given is/above, correct ? Select the correct answer on the basis of code

given below.

1) a and b only 2) a, band d only 3) a, band conly 4) c and d only

2) ~ \tfcrm;, it .ffi it ~ 'iJlIRChI' ~ ~ ~ ~ 5 ?

a) ~ ~ crm {I~lll'i q)f ~ ~

b) ~ tR ~ CfiT f:rcrr 01ffir ~
c) {11l1IMCh~m\' q)f w:m1.~

d) ~ BRiT W~ ctr (1120& ~ CfiT ~ >fGR ~. crm i3BCfiTm~fUT CR"iT

IjQ{ICffl Cf)~/Cf)~ it ~ ~ 00 5 ? -;:fr€r ~ 1ft; w:: ~ 0lTm\ tR ~ i3n< EH~.

1) a~b~ 2) a, b~d~ 3) a, b~c~ 4) c~dffi

3), Shrimati Vasundbraji Raje remained Chief Minister of Rajasthan first time during .

1) 2004 - 2009 3) 1999 - 20032) 2001 - 2007 4) 2003 - 2008zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

26- ., 3zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAP.T:O.
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1) 2004 - 2009 3) 1999 - 2003 4) 2003 - 20082) 2001 - 2007

4) Consider the following statements.

a) The total number of members in the Loksabha from Rajasthan iszyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA25.

b) The total number of members of Legislative Council In Rajasthan is 200.

c) In the Loksabha 4 seats are reserved for Scheduled Castes and 3 seats for Scheduled Tribes

from Rajasthan.

Select the Correct answer using the code given below :

1) a and b only 3) band conly 4) a only2) a and conly

4) R9 q)~ 1:R ~ ~ I

a)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA@en B11TzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif ~~"B ~25~ % I

b) ~~ if fc1~ ~ ~ ~ ~ ctr #&IT 200% I

c) @en B11Tif ~ "B .0i3)~d \ifWr q5t, 4~. qcf 0i1fL~d \iff \ifWr q5t 3 BR ~ ~ I

R9 ~ ~ i3llm{.1:R 00 ~ C{)T ~ •. ~ I

4) a~3) bqcfcm

5) Parliament in India consists of :

a) The President

b) .Rajya Sabha and Lok Sabha

c) Prime MInister

d) The Vice President

Select the correct answer using the code given below:

1) a and b only 3) a, band d only 4) b, c and d only2),a, band c only

5) ~ if ~ if flMWld % :
a) {1t<;;qRl

b) ~ B'lTI ~ @en B11T

c) : >T~~

d) ij(f {1~qRl

~ ~ TfD; F ~ 0iT~ 1:R 00 ~~:

1) a qcj-b~ 2) a, b qcj-c ~ 4) b,c~d~3) a, b~d~

6) One amongst the following statements is incorrect, find out:

1) The constitution was adopted on November 26,1949 and it came into effect on January 26,

1950.

2) Lord Bentinck was the firstGovernor General of India.

3) Pandit Jawaharlal Nehru was the first Prime Minister of India.

4) The Directive Princip1csof State policy constitute the fourth past of the constitution.

26- •• 4
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6) R9q)~ifu~q)~~~ IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq-m~

1) ~'tfR CFIT26 ~ 1949 CFIT~ ~ 0fu: ~ 26 ~ 1950"fr .~ s0fT I

2} wi·~mm~·~Wl~~~ I

3) ~ \i1<:mmfll{Tf ~ mm ~ >fWl ~'tfR l=F?ft ~ I

4) ~;ftfu~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~~rcn ~ ~'tfR ~ ~~ 'lWfif fl~l~d ~ I

7) One amongst the followings is incorrect about Lok Sabha, find out.

1) The present strength ofLok Sabha is 545.

2) The elected members from the States are530

3) The elected members from Union Territories are 13

4) The elected Anglo Indian members are 2.

7) ®en"fl11T ~ ~ if R9" if u t:{CP~ % I W ~ I

1) ~"fl11T ctT ~ ~ 545 ~ I

2) ~ U ~ ~ ~ 530 % I

3) ~ ~nftta~~TI u !B ~ ~ 13 ~ I

4) ~ ~fU$4~ ~~. ~2 ~ I

8) The representative democracy introduced at the village level is through;

1) Gram Sabha 3) Sarpanch2) Panchayat

8) :wr ~'IR ~ $I\i1ld'?l ~ zm ~ ~ <RIT t ~,~I
1) :wr Bm 2) '~ 3) ~ 4) tfq

9) In the history of Indian constitution the most controversial amendment in theconstitution was :

1) 42nd Amendment

3) 79th Amendment

2) 76th Amendment

4) 89th Amendment

10) \Vhich constitutional Amendment in India made primary education is a fundamental right?

1) 80th 2) 81st 3)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA82ti& 4) 86th

10) fchlr"tiFcrtn1 -G~Trt.A" .~ ~tm1if m~ ~T~-TIeN ~ 0Iftrcrn:. Cl'1T4T% ?

1) 80 en 2) 81en 3) 82en 4) 86en

26- • 5
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ancient civilization

11) Large earthen pots called "Gore and Koth" and meant to store-grain have been found in which

1) Ojhiyana 2) Kalibanga 3) Jodhpura 4) Aahar

11) ~ ~ $ ~ ~ m "1ffi"~" %T Ufml ~, ~~~ fr >IRf ~ ?

1)-3f'1~111'11 2) 'Cf)I«11t±4~1l 3) \Jfr~ 4) ~

13) In Marwar there was a tradition of granting ..Siropav, for bravery, literature, service. The highest

Siropav was

14) Who said "TheMughal Emperor for half their victories were graceful to the Rathore's and their one
lakh swords"

1) Col. Tod 2) Me. Millan 3) A.I. Bashaw 4) Alfiston

14) "~ClK~~~·~. it u ijmft ~ Wm; ~ -eN ~., ~ ~ ~ 01$('11'14;;;::~" .~Cfi~ cpm % -

15) Which architectural style,of temple architecture's'Bhumis Style' is sub-style of7·

1) Nagar Style .2) Dravid Style I'

3) Indo-Persion Style 4) Besar Style

16) "The emperor had made theRana of Mewar subordinate tohim through negotiations not through
force" who made this statement?

4) Dr. Beniprasad

26- • 6

12) Who discovered the prehistorical paintings in Alaniya in Rajasthan?

1) D.H. Garden

3) V.S. Vakanker

2) Dr. S. Kumar

4) Dr.Tagamarayan

12) ~ it 011(Y1RlIl~ QI~Rt(;lroqj ~ ctr ~ ~ ctr ?

1) t'r. ~. ~ 2) if. l:W. ~ 3) eft. r:w ClICbOICb<

1) Palaki Siropav

3) Ghoda Siropav

2) Hathi Siropav

4) Kara Dushala Si~bJ?av

.1) ~ ro~qlc/

3) ~ro{)qICl

2)mm fB{)qlCl

4) Cfi9T 3:!llRilT Rl () q I CI

3.) ..~. ~. ?i1T!llB.,.
, I J '.' 1.

15) ~ "{~ctr "~ ~".'fc)m'.~ .~.c€t \31:r~ % ?

1) ;:r[TR ~ 2) ~ ~ 3) ~. r.m~~1m

1) Sir Thomas Roe 2) Sir IN. Sarkar 3) Col.Tod
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1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAm~fr
3) m ifg

2) m~. l:f'l. WCfiR

4) ~.~~

17) In Rajasthan in whom is the 'Ghderiya-Panth' Prevalent?

1) In theBhils 2) . In the Meenas 3) In the Sahriyas

17) ~ if "~e;RC:II1:f~"fcn;:rif ..~ ~ ?

1) mwzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAit 2) lfrurr0Tf it
18) 'Gubbara', 'Nusarat, 'Nagpali', 'Gazak' are names of which?

1) The names of the cannons in Jodhpur Fort.

2) The names of the Prevalent regional sweets in mewar.

3) The names of the dress of the thikanas of marwar.

4) The names ofthe established revenue taxes.

1) \Ill~ ~ ctr ffitIT ~. ;:wt

2) m. it ~ ~ M61~;q1\~;:wt

3) BRCfI9 ~ ~ ~ ~;:wt

4) m.it.~~~~~'T[l1·

19) Who established thelibrary 'Pustak.Prakash' in the JodhpurFort?

1)' Jaswant Singh 2) Ajit Singh 3) Man Singh

19) \Ill~ ~ it "~W~T~' 3j«1CfMI?Ol cnl ~ ~ cfit ?

1) ~ fW 2) ~. ftiQ3) GI'1R=i~

4)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAIn the Garasiyas

4) TC!khatSingh

20) What is the 'Mughdhana' in the culture of Rajasthan?

1) The offering of heena to the goddess and then distributingit among the guest.

2) To Serve the Bridge 'Moong and Ghee'

3) .Bangles of lac in which silver wire is threaded

4) The sticks which are used to cook food which br,0ught after the worship of God Vinayal\~/i

20) rN1l:.!4Rc6t ~it "pr"ifUTT" CFTI% -

1) lW!I~eN~~~it~ I

2) q~ eN <fr 0fu: tIT mwn1T I

3) W@ ctr w-S<:iT ~ ~ ctr ~ fi:liTt \JlTcft ~ I

4) ~ tfCflR ~ Wrq (ilepf%'Li1 ;sfr ~'iI'Liep \~ ~ c:r~'Cffil ~ iJTTill ~ I

26- ., 7 P;T:O.
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21) IIi which mint the 'Iktisandha Rupee' was minted?

1) Jodhpur 2) Sojat 3) Kuchaman- 4) Merta

21)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA"~Cf)tTlea:I" ~ ~ ~ q));:ffir Cetlfll{tl if o/fffi ~ ?

1) ~ 2) ~ 3) 9jtlIG'1 4) ~

22) Where is the tradition of the famous 'Naher dance' establish which is there since the time of Mughal

Emperor Shahiahan?

1) Mandal 2) Chomu 3) Chaksu 4) Kishangarh

22) ljlWf muc ~~~ ~ B' m ~ "~~n ~~ c5TzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA-cww.~ ~ %?

1) ~ 2) ~ 3) ~ 4) fcp~~

23) In which year did Acharya Tulsi start' Anuvrat-Andolan' ?

1) 1942 AD 2) 1949 AD 3) 1945 AD

23) ~ ~ ;; "~ ~" em ~ q)Gf ~ ?

4) 1952 AD

1) 1942~. 2) 1949~. 4) 1952~.3) 1945{

24) To resolve the related problems of the estates when was the 'Riyasati Vibhag' established?

1) 5th July 1947 AD

3) 31st March 1948AD

2) 10th October 1946AD

4)04thiJanU3ry 1947 AD

24) Rqlfl\1I' B' ~ ~3TI ~'wmwr ~ Wm; "RqmffifcM"rT" ?t'r ~ q)Gf cCr ~ ?

1) 5~·1947{ 2) 1O~1946~.

3) 31 ~ 1948~. 4) 4~·1.947~ .

.25) The twenty one point demand charter Galled 'mewar pukat',*~siel~ted to whom ?

1) Motilal Tejawat 2) Manikya.lal Verma

3) Vijaya Singh Pathik 4) Sadhu Sitaramdas

25) "itcrrs ~" 21 ~ tWrcf.;r em ~11.~ m ?

1) ~i'idl(fll{tl ~ 2) Glfolcpo:j(fll(flWIf 3) .~ ..~ ~. 4) m~ 1!Jkmll1. <mi'.
. .

26) What was the annual income of 'Matsy-Sangh'<during the process of unification of Rajasthan?
-

1) One hundred eighty four lakh Rupee

2) Two hundred ninty lakh Rupee

3) Three hundred twenty four lakh Rupee

4) Twenty Six lakh Rupee

26- • 8
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26) ~ ~ qc61Cb{ol ~ ~ ~ ~ ~ ctl- cnfifCb ~ ~ m ?

1) 184~ ~ 2) 290~ -mir 3) 324~ ~ 4) 26RT& ~

27) Which province of Rajasthan was called'heeighth wonder of the world by Pt. Jawahar La1Nehru

1) Jaisalmer 2) Bikaner 3) Jhalawar 4) Kota

27) ~~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAem fcfffi ~ C/?r1:f. ~ ~ ~ ~. ~~~ C6l ~ ,*~r.r4C@ m ?

1) <ilB(ii~{ 2)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA4)CfiI~{ p) $i1(iiIClI9 4) ilcr

28) During which Prajamandal movement did the 'Kangad Kandh' take place?

1) Jaipur Prajamandal

3) Kota Prajamandal

2) BikanerPrajamandal

4)· Jhalawar Prajamandal

1) ~ $j\lill1Os(ii

3) c6rcr $j\li IlOJO!5(ii

2) .~ $l'illl1o.s(ii

4) $iI(flIClI9· >I\lillOJO$(ii

29) During the revolt of 1857 who said the following "The English have gone back on their words did

they not occupy Awadh? Hence they shouldnot expect that Indian will also abide by their words".

1) Tantya Tope 2) Hakim Ahamad

3) Pratap Singh 4) Muhanunad Ali beg

29) ,,~~~. ~rcr~ '*r ctl- % I CR.lT ~ \31c1tr ~ ~ .~:~ ? \3'ffi: ~ <:m~m 1'tT qwfi
~ fct;.~ ~ ~rcr~cnr·\3ijQIWI ~I" 1857~.ctl-.~··W ~if<:m fclttA ~ ?

• " .•. :.. 'I: I

1) ~ irtr 2) mfctr.r ~ 3) ww:r ftffi" 4) ~ ~ Wr

30) Which amongst the following is110t a musical instrument played by wires?

1) Janter 2) Rwaj 3) Chotara 4) Satara

30) Rq if BetA m IDr crre:r ~ % ?

1)'~ 2) ~ 3)~ 4) B"ffiU

31) The average of 6 numbers is20. If anumber is removed then average becomes 15. In place of
removed number by adding a number 39 the average of new 6 numbers will be .....

1) 17 3) 19 4) 182) 20

31) 6 \:f&n0n cor 0ffim 20 % I ~ ~c{i r:f&IT "QCTeft ~ ffi" ~ 15 m \JlTill % I ~ ~ r:f&IT q, ~-TR
tR 39 \Jj\5~ ~ 3'1 '14t 6 ~0fT Cl?T0Trmr ~1\J'ffcrlT .... I

1) 17 2) 20 3) 19 4) 18

26 - 9
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32) The average of 15 numbers is 40. In these average of first8.numbers is.30 and the average oflast 8
numbers is 50. The value of eighth number will be .....

1) 40 2) 30 3) ;35 4) 50

32) 15zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAU&:rr.w COT0frmf 40 % I ~ 'Sf~ 8 ~.:m COT0frmf 30 ~ ~ 8 ~.m Cf)T~ 50 %I

m~mCOTBA'~ .....\1

1) 40 2) 30 3) 35 4) 50

33) A person spends average Rs.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA18001- per month in first 4 months ..In next 8 months spends average
Rs. 2000/- per month.In the end of year saves Rs. 5600/-. Then his average monthly income is .....

1) Rs. 2000/- 2) Rs. 2200/- 3) Rs. 2400/- 4) Rs. 2600/-

33) (%~'Sf~4~if~ ~.1800/-~~~% 1 ~ 8zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~ii~ ~.2000/- ~
~ CfimT % 1 cr:f if ~. 5600/: ~ qqr #rID % 1 m ~ ~ +nfW.n ~ ~(I

1) ~. 2000/- 3) ~. 2400/- 4) ~. 2600/-2) ~. 2200/-

34) A person lent Rupees 10,000/- at the interest rate of ~O%perannumcompounded yearly. How much
rupees he will get back after 2lh years.

1) Rs. 12810/- 2) Rs. 12510/- 3) Rs.12705/- 4) Rs. 12910/-

34) 'Q,CP ~~ ~. 10,000/- 10o/~~ 'q¢bqf.@ ~ rtT G:"{ ~ TfV'AT coB 'tR ~. fuil 1 2lh cr:f tf~~ ~
fcrn:R..~ cnfCR:r ~ 1

1) ~. 12810/- 3) \. 12705/- 4) ~. 12910/-2)~. 12510/-

35) At what percent yearly rate of compound interest a sum of money will become four times in two
years?

1)75% 2) 100% 3) 60% 4) 80%

35) fcl?r:r >Tffi~m..~ 'qs;f)qRi~ rtT ~ ~ lJffi wr-~~L~,if t:rrt~ m~. ?

1) 75% 2) 100% 3) 60% 4) 80%

36) Thecompound intereston certain sum is Rs.376.201-ahdsimpl~interes,tisRs.360. What is the sum?

1) Rs. 2000 2) Rs. 2100 3) Rs. 2,300 . 4) Rs. 2200

36) fcbillufu ..COT2 erst coT:q¢hq~ ~ ~.376.20/~ ~.-3fu m'aWT~,~. 360/- ~ 1 ~ ~T fuiwIT %?

1) ~. 2000/- 2) '{. 2100/- 3) ~.23001- 4)~. 22001-

37) The average number ofruns scored by'A' in the last 10 matches is 42 and by'B' in the last 15

matches is57. \Vhat is the average runs scored by both ?

1) 47 3) 512) 52 4) 53

37) T[Cf 10 ~ it 'A' ~ W CfiT 0ffi:l"f. ~R 42 'dt([ 'B' CfiT T[Cf 15 ~ if FIT Cf?f 0ffim ~~\ 57 t I '~!'1"i

iF, r;:IT Cf?f ~ ~ cp.n t 1

1) 47 2) 52 3) 51 4) 53

26- "
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38) A series of seven conseeutiverintegers is given. In that series average of first five integers is N. What

is the average of all seven integers.

1) NzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA+ 2
5N+2

3) 7 4) N + 12) N +3

1) N +2 3) 5N+2
7

4) N + 1

39) If the average ofzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAm numbers isn~ and that ofn numbers ismzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA2, then the average of(m+n) numbers is

1) m/n 2) m+n. 3} m-n 4) mn
, .

39) zrc!J m "ff&:rraTIem 0fTmf n2% 'ijfR %m ffi(; n "ff&:rraTI.crlT 0fTmf m', %~~ (m+n)"ff&:rraTI COT .~' %'1

1) m/n 3) m-n '4) mn2) m+ti

~Qt There is a tree on an island situated with in a river.100meter Wide.At the both banks of river ~here

are two opposite points P andQ. Tree and ~oth points are inti s~~ight line. The angle of elevation

from point P and Q to the top of tree are 30°'& 45° respectiVely.Th~n height of the tree is .....

1) 100(~-1) 2) 50(~-1) ,3) 25(J3+.1) 4) 100(J3-1)

40) 100~ mtt '~ if 1:%' ..ffr:r 1:11:'mo '~%4 ~ •.' ~ ~. f4j11~,1:I1: ~I~~;fcr:rfur m ~P ijfR Q

% 1~ ijfR ~,~ ~ -rom mil~1~ ~ Q ~ ~ ~em ~frSTi~~T: 30° ijfR 45° ~ ~ c6rrr
~% 1 mqg"~'~% ..... .

1) 100(J3-1) 2)50(J3 -1) 3) 25(.J3+ 1) 4) lOQ(.J3-1)

41) If a shadow of a toweris .J3 times of its height, then angle of elevation of the sun is .....

1) 30° 2)'60° 3) 45° 4) 150°

41) ~ ~ em tWIT q5T ~ ~ ..~. q5TJ3 .~ ~m m::f em ~ c6rrr WIT.....

1) 30°

42) From a point P at the ground a Jet Planehas 60° angle of elevation. After15seconds its angle of

elevation becomes 30°. If Jet Plane is flying at the same height of1500.J3 meters from the ground,

the speed of Jet Plane is .

1) 150Meter/See 2)120 Meter/See 3) 136 Meter/See 4) 200Meter/See

42) t:;Cfi ~ t#'R em ~ c€ruT ~ 1:11:lfcj? ~ P ~ 60°% 1 15'~ ~ \3W6f ~ 30° m- \i1Tffi %
I ma: ~,.~ ~ ~ 1500.J3 ~ q5T,W1R'~ 1:11:~ un.i?r ~"~ ~ eN ~.zyn .

1) 150 ~ro-. 2) 120..nv:1B. 3) 136~IB. 4) 200~1B.

P.·T.O.1126- •
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43) Rs. 8400 is divided amongA, B, C and D in such a way that the ratio of shares ofA:B is 1:2, B:C is

3:1, and C:D is 2:3. Find the sum of shares ofA & C and B & C, Itis .....

1) Rs. 3600, Rs 4500

3) Rs. 3000, Rs 4800

2) Rs. 3000, Rs 4500

4) Rs; 3600, Rs 4800

43) ~. 8400/-cBTA, B, C ~D $ l1'e.:f ~ w.fiR~ ~ ~ fcB-m ~ CfiT ~ A:B i 1:2, B:C ~ 3:1,
i3fIT C:D % 2:3. A q C ~~ B q C ~ fu«ii (.f)T 'lWT ~ qffi I mi .....
1) ~. 3600,~.4500 2) ~.3000,~. 4500

3) ~.3000,~.4800zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA4) ~.3600,~.4800

44) The ratio of total amount distributed in all the males and females as salary is 6:5. The ratio of salary
of each male and female is 2:3. The ratio of no.of ma.Ieand female is ..... ..

1) 5: 9 2) 5: 7 3) 7: 5 4) 9: 5

44) ~. ~ ~'* ~lf8:f' ~ ~ ~d'i&!l~ COT .'~ 6:5~I. ~ i3fIT ~ ~ cBTfl:rffi
(f~ COT ~ 2:3 % I ~ ~ ..~.~. ~'* ctt ti"&n COT ~% .....

1) 5; 9 2) 5: 7 3) 7: 5 4) 9: 5

45) A bag contains Rs. 820/- in form of Rs. 5, Rs.2 andRs, 1 coins. The number of coins in the bag are

in ratio of 4: 6 :9. The number of Rs.2/- coins in the bag is ..... .

1) 80 2) 100 3) 120 4) 140

45) t% ~ it ~.·5/-, ~.·2/-0fu:~. 1/- ~ fW.FtT it (it{ itzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~.820/-~ I ~ ~ it ~ ctt tr&nCOT ~

4 : 6 : 9 ~ I ill ~ if ~.2/- ~ ~ ctt m£(:rL% .....
1) 80 3) 120 4) 1402) 100

46) In an examination, 35% of the candidates failed in Mathematics and 25% in.English. If 10% failed

in both Mathematics and English, then percentageof candidates passed in both the subjects is .....

1) 50 2) 55 3) 57 4) 60

46) ~ qfr~ it 35% ~m • if i3fIT 25% ~if ~ ..~ I <:@: 10% llftJRr 0W: ~ c:Ri .~
~ ~ ill .~ ~-mif ~ ~~ (.f)T;~~m % .....

1) 50 2) 55 3) 57 4) 60

47) If numerator of a fraction is increased by 200% and denominator by 400%. The resultant fractionis

] 1 ....20 ' then original fraction IS ..•..

2) 11/
710

4) 1~
2

31 6/zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
JzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA/5
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1) 1,% 2) 1~ 3) % 4) 1~/10 2

48) 35% of 42% of% of 500 will be .....

1) 63 2) 44 3) 52 4) 60

48) 500$ % ~ 42% CFiT 35%.~ .....

f) 63 2) 44 3)' 52 4) 60

49) The simple interest on Rs.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA1650/- at the rate 4%p.a is less by Rs. 30 than the interest on Rs. 1800/-

calculated at the same rate. The time period of money lent is .....

1) 3 Years 2) 5 Years 3) 4 Years 4) 6 Years

49) ~. I650/-"Cf{ 4% ~ ~ B ~ ~ ~ ~ B- ~. I800/~"Cf{~ ~. B ~.30/- ~ % I ~
" I"fe:ir ~ em Bt:jqlq\'tr % ..... ..

1) 3CfGT 2) 5 CfGT 3) 4 CfGT 4) 6CfGT

50) A certain sum of money amounts to Rs. 2613/-in 6 years iat the rate of5% per annum by simple

interest. In how many years it will amount to Rs. 3015 at same rate?

1) 20 Years 2) 15 Years 3) 10 Years 4) 5 Years

50) ~ ~ WT 5% ~ mm<or ~. em ~ B 6 CfGTif ~. 2613/- m ;:;rkiT ~ I 'WWf ~ B % fcffiR ~

if ~. 30151- m ~ ?

1) 20 CfGTif 2) 15 CfGTif 3) 10 CfGTif 4) 5 CfGTif

51) A money-lender finds that due to fall in rate of simple interest of 13%p.a by 0:5%, his annual

income reduces by Rs. 104/-. His lent capital is .....

1) Rs. 20800/- 2) Rs. 32800/- 3) Rs. 34600/- 4) Rs. 36400/-

1) \.20800/- 2) z. 32800/- 3) \. 34600/- 4)Z. 36400/-

52) The sum of squares of three numbers is 532. And the ratio of Jh~ first to the second as also of the

second to the third is 3 : 2. What is the second number?

1) 10 2) 12 3) 11 4) 14

------~------~~----------.----- -----_.
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52) ffiT;. ~0TIzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAt CllTIem <Wr 532 ~ I qm;ft em ~ .:~ ~ ~~~'eOt)fflfm ~..~ 3 : 2 ~ I ~"BitBw;rr
CR:TTmrJT ?

1) 10 2) 12 3) 11 4) 14

53) The ratio of the number of boysto the number of girls in a school of 1638 students is 5:2.If the

number of girls is increased by 60,then what m~stbe decrease in the number of boys to makethe
new ratio of boys to girls as 4:3?

1) 506 . 2) 466 3) 476 4) 496

53) 1638 ~ t~ l) t9cif CfITBw;rr $ m?lT0TICfIT~ em ~'5:2 ~I ma;. m::rri3TI ~ ~ 60
GICP \jffffi ~, .~ r.mii 0TR m::rr\3lt em ~.~ 4:3 ~ \iTA ~ ..~ tmiT. ~.~ l) CR:TTcmr ~ ~?

1) 506 2) 466 3) 476 4) 496

54) If a: b = 4: 5, b : c= 20: 11 and c : d= 6 : 7, then value ofa :b : c : dwill be .....

1) 48: 60: 33 : 77

3) 96: 120 : 66 : 77

~) 80: 100 :44 : 66
j'1

4) 56: 70 : 66 :77

54) ~ a : b= 4 : 5, b : c =.20 : 11 ~ c : d= 6 : 7 WI m a : b ,: c : dem 1Wf ~ •....

. 1) 48: 60: 33: 77 2) 80: 100: 44: 66

3) 96: 120: 66 : 77 4) 56:70 :66 : 77

4 I-sine.
55) If tan e= -then value of . ....IS

31 + sine

3) ~.2) X'
55) ~ tane = 4 m 1- sinO eml1FT -?rrr I

3 1+ sinezyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAh 4) ·1/
713

56) If tane= cote, where 0< e < ~ then value of e will be

3) .~2) 7i'
56) ~ tane== cote ,\liZ;1 0 < e < ~ m e em 1fR ~

1) % 2) 7i' 3) ~

57) If the length of shadow of a pole on the level ground is twice of the length of that pole. The angle of
elevation of the sunwill be

4) None of these

26M
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57) ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~.ctt ~ qfflf m:..•.tW:rr ctt ~.r.ffirr ctt ~ cBT~ ~ 1m ·~CfIT ~ cnTurmrrr .. ,

1) 30° 2) 45° 3)60° 4) ~~. ~ ~

58) The value of
sec8-1 '

1'1 1 will be .
sec\]+

I} cote - cosec8
,

3) cosecs -cotG 4) tane-seeS2) sectl= tanf

58) sec8-1
8 1 CfIT'l1l'1 mrrr .

see +

1) cots - cosecO 4) tan8-secO2) sec8-tanO 3) coseeO-cot 0

59) If tan X = sin 45°. cos 45°+ sin 30°, then the value,ofX will be .....

59) ~ tan X= sinzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA45°. cos45° + sin 30°zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAffl X COT trR mm .....

60) In a tight angle triangle the length of anus making rightangle is ~and b. Then area of the trianglewill be

I)'ab 2) .!.ab 3) la-Ja2+b2 4) .!.b-Ja2+b2

2 2 " . 2 ..

60) ~ Wlc5tuT14 ~ if fP"lc5tOI mcmrlT '!FIT~rtT ~ a c,rW b % I m ~ ,C!?T ~ mrrr .....

1) ab
1

.2) -ab
2

61) In a rectangular quadrilateral ABCD, BC::: b arid AC= c, then area of the quadrilateralwill be .....

1) b.c 2) b.Jb2+C
2 3) bJb2-c2 4) bJc2-b2

61) ~ ~ffiCfiR.~ ABCD it BC = b ~ AC = c m s\31T % I 'ill ~ C5f ~ irrrr· I

1) b.c 2) h.Jb2+C2
. 3) bJb2-c2 4) b.Jc2-b2

62) A rectangular quadrilateral is divided in such a way it get divided into two squares. If each-arm of

squares is "a", then the length of hypotenuse of the rectangular quadrilateral will be .....

1) 2a 2) .f3a 4) J5a3) 2J2a

62) ~ 0iP:RITw ~ it cJ ~ .~ ~ fcl?ir ~ % fcn %?;f cr<lfc!m:qg~ if fcMlIGif] ~mr~ I ~

CJTflcnR ~ ctt ~ 1fi1f "a" ffl 0114mCflI{ ~ it~r ctt~1?)l~ .....

1) 2a 2) -J3a 3) 2Jia 4) !Sa

26 - 15zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAP.T.O.
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63) A runnercompletes a race of4.40 Kilometer by taking 10 rounds of a circular field. Then the area.of

the field will be ....

1) 15200 sq.mts 2) 15600 sq.mts 3) 15400 sq.mts. 4) 15800 sq.mts

63) ~ ~ ~ JfWf/qjH ~ t 10 ~ WTTClR 4.40fcn. ;fT. ~'~ qm:rr %1 m ~ cpr ~ ~ ....

1) 15200 q. m. 2) 15600 q. ttt. 3) 15400 cL m. 4) 15800~. m.
64} A man loses 20% of his money. After spending 25% of the remainder, he has Rs.480/-1eftwith him.

How much money did he originally have?

1) Rs. 872/- 2) Rs.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA840/- 3) Rs; 800/- 4) Rs. 8201-

64) ~ ~ ~ ~ em 20% ~T it ~ m- iifRiT ~ ImuM if it' 25% ~ ~ ~ 1:f~~ ~"1:ffi1

~. 480/- ~ % 1 ~ 1:fR1 ~: fcmRT~-"tt~iT ~ ?

1) ~. 872/- 3) ~. 800/-2) ~. 840/- 4) ~. 8201-

65) A merchantpurchasesan item for Rs. 500/-. Hetharks at its price Rs.700/-. Heallows 10% discount
'" "'~

on cash payment what is total profit in terms of amount and percentage?

1) Rs.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA130/-,26% 2) Rs. 150/~,30% 3) Rs.1201-,24%' 4) Rs. 70/-,14%

65) lJ;q) cz:rrtnfr' ~ ~ ,~ ~.500/- if ~ ~ I~ ~. ~.100J- ~"~ ~ ~ I % ~ ~ l:R

10% em ~ ~ ~ 1 U!?Tr i3fu: ~!?lffiIT it'~ &'l1Cf(IT ~ ?

1) ~. 1301-.26% 2) ~. 1501-.30%
lI.:, ,

3) ~. [201..,24% 4) ~.70/-.14%
i.'

66) If cost of 20 pens is equal to the selling' price of 25 pens. What is net loss percentage ?

1)25% ,3) 5% 4) 15%2) 20%

1) 25% 2) 20% 3) 5% 4) 15%

67) 'A: started a business with a capital ofRs. 10,000/-. Four months later 'B' Joined him with a capital
i 'J -' ,. .

of Rs. 5000/-. What is the share of A in total profit of Rs, 20001- at the end of the year ?

d.) Rs. 1200/- 3) Rs. 1400/- 4) Rs. 1500/-2) Rs. 1300/-

67) 'A' q~. 10,000/- ~ j\ij"i U cznw Wi fcnirr I ~ Cjm""c i:f~~ ~. 5000/- em ~0f1 wrrcn~ '13' \jB~) m~
~ <Wf l.ersT ~ 0-lcr i{ ~ ~:r ~. 2000/~ if 'A' q)J mw.r cp:rr ~ ?

1) ~. 1200/- 2) ~. 1300/- 3) ~. 1400/- 4) ~.15pO/-

68) A milkman procures 20% more milk by fraudulent measurement. He sales itby mixing 25% water

in it. His total gain will be .....

1) 45% 3) 50%2) 40% 4) 48%

26- • 16
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68) ~ ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA-?r ~ 20%~ ~ 'ffiir ~ I ~ ~ 25% qrft M«1I!5b{mIIzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAi~ ~ ~

mrrr .....
1) 45% 2) 40% 4) 48%3) 5.0%

69) 'A', 'B' and 'C' enter into a partnership. 'A' invest Rs.320/- for 4 months, 'B' invest Rs.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA5101- for 3
months and 'C' investRs, 270/- for 5 months. If the total profit is Rs. 208/- then sharein profit of 'C'
is .....

3) Rs. 67.50/~ 4) Rs.68/-1) Rs.64/- 2) Rs.76.50/-

69) 'A', 'B' -3fR'C' *llildJ{1if !?m ~ ~I 'A' 4 +fm" m fuir~. 320/-; 'B' 3 ~ mfuir ~.5101- -3fR'C'
5 ~ m fuir ~.270/- q)f q;:r wnn ~ I ~.~ ~~. 208/- tm=rr ~ "ffi ~ if 'C' cnr ~ ~ .....

2) ~. 76.50/- 3)~. 67.501- 4) ~.68/-1) ~. 64/-

70) Ifa+p==: then (1+dma)(I+tan,B) will have value .....

1) _1..fj 2) ..fj 3) 1 4) 2

70) ~ a+f3== 7l ~ (1+tana)(1+tan,B) cnr l1R irir .
4

1) _1..fj 2) ..fj 4) 23) 1

. 71) If cos'B - sin48 = % then value of1- 2sin2ewill be .

1) ±
3

2) 0 4) Y3'

;..,

4.

1) 3 2) 0 3) 3{

72) The ratio between of a square shape and a circle ofmaximum radius withinit is .....

3) 3:71 4) 4:711) 1:7r 2) 2:71

2) 2:1[ 3) 3:71 4) 4:711) l:.1l

1726- • P.T.O.
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73) In a given figure a semi-circle is drawn at the base of an isosceles triangle.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAIn that tanzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAe=zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA% and

diameter of semi-circle is 2a. Area of the figure is .....

2) (1+ 7r) azyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA2

3) (3~7r)a2

4) C:7r)a2

73) .eJ ~ ~. i{ ~. f\GmGlI&; f?r!fJi ~ \3W.W 1R ~

0l~ ~ .••.~ I ~ tanB=% 0fn:

0l~ COT&rffi 2a.~ I ~·COT ~ % .

1) (1+~)a2

2) (1+7r) a2:

(
3+

2
7r).a· 23)

1) (Jl3+1l)a

74) The measurement of outer periphery of the figure in question no .73 is .....

4) (5+1l') a

74) :;:r~-.=r msm 73 em 0i1i8Rl i{ ~ ~ emBN ~ .

1) (Jl3+7r)a 2) (2-Ji+7r)a 3) (.J1i+1l)a 4) (S+1l') a

75) A square has area 121 em?by folding a wire ill square shape, lithe same wire is folded in circular

shape, then area of circlewill be .....

1) 144 em? 2) 180ern? 3) 154 em? 4) 176em?

26- I) 18
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75) Q,Cf} aR·zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAqTI Q,Cf} q1f ~ \31lCOR if~ ~ 1R q1f em ~ 121 fr. lfl"2 ~ I ~ 0ttt aR CJ?r·wr ~ ~

if l119T ;:m~nn~em~ WIT I

1) 144B. lfl"2 4) 176B. lfl"22) 180fr. lfl"2 3) 154fr. lft2

76) What is periphery of a rectangleABeD? , if AD = 3 and BD ;;;;5 is given

1) 12 2) 14 3) 16

76) Q,Cf} ~ ABCDem ~ CRn ..~ ? .~ AD = 3 ~BD =5cIT ~ I

1) 12 2) 14 3) .16 4)17

77) If p sine = q and e is an obtuseangle,. thenvalue of .zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA.J p2 - q 2 X tana is .....

1) P 4) %2) q 3) pq

1) p 4) %2) q 3)pq

78) Area of the given field booki~ .....

1) 510zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

2) 492

3) 490

4} 520

78) cITzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBATJt··~ ~·em·~ %' ...••.

1) 510

2) 492

3) 490

4) 520

79) Fjeld book given in question no. 78, the area under triangular shapes is

1) 250 2) 260 3) 240 4) 270

79) >r~'1BwTI 78 if cft ~ ~ ~ if ~ 0ilqi~il:ll em ~~ % .

1) 250 2) 260 3) 240 4) 270

26- • 19 P:T.O.
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80) If sinO - cosu= 1
7
3and 0<0 < ~ then the numeric value of sina+ cose is equal tozyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

·1) !2
13

2) 13
17.

1
3) 13 4) ~

13

80) ~ sinO-cosO = 1~ 0Tr: 0<0 < ~ (1CT sinO +cosu chl B&OII~Cb 1=fR CfWR ~.

1) !2 2) .!l 3) '~ 4) ~
13 17 13.13

81) Which of the following pairs are correctly matched? Select the correct answer using the codes given

below -

District

(i) Jodhapur

(ii) Sikar

(iii) Jaisalmer

(iv) Karauli

Codes :-

Shape

Irregular Polygon

Crescent - Shaped

. Peacock -.Shaped

Duck - Shaped

3) Only (iv) 4) (i) and (iv)1) (ii) and (iv) 1) (ii) and. (iii)

81) R9 ~ if B ~-B ~"BtT.~ ~ ? ~ ~ <1l{ ~ q)f m Cf5"{"fffiT i3W Wm-
fuR;rr . \31TCf,R

(i) \JiT~ 0lH4Md %~
(ii) , .~ 01t-~

(iii) ~ "'111 \8\~Ji( W.:gICbI(

(iv) ~. ~tffiCf5R

~ :-

3) ~ (iv) 4) (i)0TR (iv)1) (ii)0TR(iv) 2) (ii) ~ (iii)

26-8 20
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82) In the above map location of those villages has been shownfrom which north - south and east-west

extent of Rajasthan is measured. These locations are marked.asIi), (ii),(iii) and (iv). Identify their

correct sequencefromthe series given below -

1) Borkund, Sylon, Katra, Konda

3) Sylon, Konda, Katra, BorkundzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

"

3) Kond~~ Katra, Sylon, Borkund

4) KatraKonda Borkund, Syloa

82) \3Cffffi\V'lR1';;{if \R'1JicIT <8 ~ Cbl c{~W:rr 11m%,~ -« mm:~ q;r ~-~ q wf - m-:qq ~ '1Nf

\j\jffi% I ~ ~ (i), (ii), (iii) 0fr: (iv) -« 0ffiIm <8 ~ ~ ! rfr€t ;a.T~ •.$!5HICj(m -« ~ Bffr· ~

q~'tllHqIzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

,1) ~,~,cnw,.
3) ~,cBTrrrr,~, ~

2) Cf)lurr, we:n'i,ffiMr'i,,'~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

4) ~,9Wm,~,.~

83) Examine the following statements regarding physical divisions of Rajasthan and select the correct

answerusing the codes given below -

(i) Western sandy plain extends over 61.11 per cent land area of the State

(ii) Arava11i mountain region extends over 9.60 per cent land area of the State

(iii) Eastern plains extend over 23.03 per cent land area of the State

(iv) South-eastern plateau region extends over 6.37 per cent land area of the State

Codes :-

1) (i), (ii) and (iii)

3) (iii) and (iv)

2) (i) and (iii)

4) Only (i)
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83) ~ ~ ~~~iT'~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAwq-~ if f'i+Tjf~f@ct Cf)~ emW~ ~tr~ ~ ~ rm: ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAemm CO{

Bfr i3nt ~ - . ..•. . . i.'

(i) ~. ~ •.61.11zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~~tffi 'Il- ~ if ~ ~/~'q}f ~"".~ I

(ii) ~ ifi9.6omti~m 'lt~ '.if ~ ~~~Tq}ffCR~~' I

(Hi) TIJq ~ 23.03 >Jfu"~m~.~. ifwff'fNR~T .~t-r ".C

(iv) ~ ~ 6.37>rfu~m'ltatlif ~-~m ~~TEFiT~% I
~:_ '. t c/

1) (i), (ii) i3fR (Hi)

3) (Hi) ~ (iv)

.2) (i) .&R. 'fiii)
4) ~,(~D

84) How much pet cent area of the sandy.plain·o:fwe~ternR'fj~~tha.nisg\me ~free?

1) 41.5 4) 14.72) 18.6

84) ~ ~ ~ ~ 1{zy{ em ~ ~!tm ~. €:!1<14lIWq -~ % ?
I .,

1) 41.5 2) 18.6 3) 61.L1 4) 14.7

85) Arrange tl)e f911owiriilrtountain peaks of Aravallis in ascending order of their height -~.,. '. " '-, . -'.,

1) Kumbhalgarh - Jarga - Raghunathgarh-Achalgarh

2) Achalgarb'.,Kul11bhalgarh- Raghunathgarh -Jarga I

3) Raghunathgarh 2:r(umbhalgarh ~Achalgarh - JargazyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

4)

1) w-~-~.-~~-~
2) 0TClWTg;-.~\?'- ..~~ -m'1T

3) ~~~:rWfu ~<31.~ - iJii:<rr
'? ',.' -....:;; • .' •

86) In-terms of extent of drainage area the COITectascending order of the river systeI11sof Rajasthan is -

1) Mahi - Banas ~Luni - Chambal

3) Charnbal -Luni- Mahi - Banas

2) Luni -Mahi-Chambal- Banas'

4) . Banas - Mahi Luni "Chambcd

86) 0~ ~"~ t~l1.c8 ¢z B ~~~ % ~ ~ emmT ~ ~
1) ~ "'iif'ITf:f - ~ - ~ 2) ~ ~ Blm - ~ - GRTf:f

3) ~·~T - -Vr:fJ - 'B1tt - ERN 4) CRTf:f-'B1tt- ~(iTil ~ .

26- • 22
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Rajasthan
Koppen's Climatic

Region

~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
~m

(~~)

87) In the above map of Rajasthan Koppen's Climaticregions have been marked as(i), (ii), (Hi)and (iv).
Identify their correct sequence from the series.given below ~

1) BWhw, BShw, Cwg, Aw

3) .BShw, BWhw, Aw, Cwg

2) 4w, CWg, BShw, BWhw

4) Cwg, BWhw, BShw, Aw

87) ~ ~ BCffi·. Bl'"lfil31 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAii~ ~.~~~TI ir(i),(ii), (iii) i3ffi" (iv) ~.~ f$trr <mr% I .w.r
m <Tt ¢l?BIClct\ ~ ~ um ~. 4$'qIf.:lct -

1) BWhw, BShw, Cwg, Aw 2) Aw, Cwg,:BShw, BWhw

3) BShw, BWhw, Aw, Cwg 4) Cwg.BWhw, BShw, Aw

88) Assertion(A) -Sierozem soils found inRajasthanarerelatively less.fertile.
Reason (R) - Sierozem soils are deficit in nitrogen and carbonic matter.
Codes :-

1) (A) and (R) are both correct,but (R) does not correctly explain (A)

2) (A) and (R) are both correct, and (R) correctly explains (A)

3) (AY is wrong, but (R) is right

4) (A) is right, but (R) is wrong

88) Cf)~ (A) - 'U\iR~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif ~ \jj1~ cm;fr B'1~\jP{ filg') c€r \jcl{1 !tm 0N~~ .Cj?l1mill ~ I

CORDT(R) - \f~ ~if 'il~il\jl'i~m Cf)rcn~ 1:fCJqf c€r Cf;1fr mill % I

~ :-

1) (A) 0ffi (R) ~ Btt ~, ~ (R) (A) CfJ ~ 2ll\9m ~~

2) (A) 0ffi (R) G'1'11'BtT %, d~T(R) (A) em Btt· ct::fRc,;m cmm·% I

3) (A) <wrn t lf~ (R) 00 ~I

4) (A) Btt %-, ~ (R) lfffil % I

26 -zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA23 P.T.O.
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89) Match List ~I with List- II and select the correct answer using the codes given below··
List ~I List - II
(Wildlife Sanctuaries) (District)
A) Band Baretha (i) Jaipur
B) Sitamata (ii) Udaipur

C) Nahargarh (iii) Bharatpur
D) Phoolwari-Ki-Nal (iv) Chittorgarh
Codes :-

A B C D

1) (i) (iii) (iv) (ii)

2) (ii) (i) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (i) (iii)

89) ~- I~ ~ -IIU ~ ~ (fm -.mt fut:;.~.~em m CO{ mrr ~ ~-
~-I. ~-II'
(~ ~ ~) (RJrffi)
A) ~ GfRor (i) .~

B) B"ldllOOJ1tll (ii) ~.
C) . 11~{JI<? (iii) .~
D) 'ii{t1ql~~CfIT-<m<r (iv) fildhpI<?

F:-
ABC D

1) (i) (iii) (iv) (ii)

2) (ii) (i) (iii) (iv)

3) (Hi) (iv) (i) (ii)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

4) (iv) (ii) (i) (Hi)

90) In terms of area the largest agro - climatic zone of Rajasthan is -

1) Irrigated north -western plain

3) Arid westernplain

2) Humid southern plain

4) Flood-prone eastern plain

90) ~~ c:BT '~1S(; 'B 'lfSR~ CFiT ~{ ~ ~- ~ '@\f.S %

1) fuf~ 'j,1 {-~. ~ 2) ,:ms:: m~'1Ufr~G:Ff

3) ~"::f) "CfT~r frcR 4) ClTc? Umcz:r '[<:.\1 ffi

26~ • 24
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91) In the above map of Rajasthan areal distribution of famous breeds of livestock has been marked as
(i), (ii), (iii) and (iv). Identify their correct sequence from the series given below -

1) Tharparkar, Rathi, Gir, Kankrej

3) Tharparkar, Kankrej, Gir, Rathi

2) Kankrej. Gir.Tharparkar, Rathl!zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
p . .

4) Rathi, 'Iharparkar, Kankrej, GirzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
L/\FO 1

A 13 C D

1) (i) (iv) (iii) (ii)

I
2) (iv) (i) (ii) (iii)

3) (iii) (ii) (i) (iv)

IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA4) (iii) (iv) (ii) (i)

I .----------~."""".~

! 26 -• 25 P,T.O.~
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91) ~-TR ~ ~ YHRI=;>! if 1:f~0#cCr ~ ~ ~ ~r:r fcril{Ur em (i), cCii) , (Hi) Jfu: (iv) -fr ~ ~f

TIm %1 .~ <ft ~ ~Y"WI~ -fr ~ BtT ~ q~"ClIAq;- .

l)'~I(q(41!(, utT, rfR, 4li<:fi{;J! 2) <:fijC!;~,rfR, %!I{q~<:fil{,"(lit

3)tll<q<&)I(, 4lj41~\Ji,rfR,\Jit 4) -nil, tll(q<<:fil(,~i\rf, <lIT.

92) Match List - I with List - II and select the correct answer using the codes given below -,
List - I List - II

(Irrigation Project)

A) 13ankli Dam

B) Som-Kamla-Amba

C) Morel Dam
D) Jakham Dam

Codes ;-

(District)

(i) Pratapgarh

(ii) Sawai Madhopur

(iii) Jalore

(iv) Dungarpur



I
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~-I
(~ qR4t\jj"I)

A) firft ~~
B) tf\1:r-~~~

C) l1ltrr qT'q
D) \j'ff@11 ~

~:-
ABC D

(Ii)

(iii)

(iv)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

0)

~-II
(m-r)

(i) W.1IQ<tq>

(ii) -wnt m~ir9."{

(Hi) ~

(iv)~

1) (i) (iv) (iii)

2) (iv) (i) (ii)

3) (Ui) (ii) (i)

4) (Hi) (iv) (ii)

93) Match List - I with List ~II and select the correct answer using the codes given below -

List - I List - II

(Irrigation Project) (Associ?ted States)

A) Chambal (i) RaJasthart, Madhya Pradesh
B) Mahi-Bajaj S~gat (ii) R~jas$al;l,Punjab, Haryana
C) Beas (Hi) R.tJ?$thap,ptij¥at
D) Sardar Sarovar (iv) R.ajasthan.Gujarat,MadhyaPradesh, Maharashtra

Codes :-

ABC D

1) (iv) ,(ii) (i) (Hi)

2) (i) (iii) (iit (iv)

3) (i) (iv) (Hi) (ii)

4) (iii) (i) (iv) (ii)

~-I
(~ rrlqR-TIlj-it:"'I\ij="=I)' ,

A) ~

B) ~-~ mrr:
C) czrru
D) ~ Bfrcn:
''§C :-

ABC D

~-1I

(~~)

(i) \M\~, 11~~T

(ii) ~~, ~,e?R410!l
(iii) \T::iR~, ~

(iv) ~R, ~, '1~~1, lTfffil~

1) (iv) (ii)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA(i) (iii)

2) (i) (iii) (ii) (iv)

3) (i) (iv) (iii) (ii)

11) (iii) (i) (iv) (ii)..,l
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Rajasthan
Irrigation Plan

of Indira Gandhi Canal

~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
~ 1lTit 'lqT ftNrf"1I\'ImIit

94) ,In the above map of Rajasthan location of lift projects of Indira Gandhi Canal have been marked as

(i), (ii), (iii) and (iv), Identify their correct. seql(1ence from tperperies given below -zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
c

1) Panna Lal- Barupak.Karni Singh, choudharyKumbha Rp.m, Jai NarainVyas

2) Jai Narain Vyas, Panna Lal - Barupal,Choudhary KumbhaRam, Karni.Singh

3) Karni Singh, Jai NarainVyas, Choudhary Kumbha Ram, Panna Lal - Barupal

4) Choudhary Kumbha Ram, Panna Lal-Barupal, Karni Singh, JaiNarain Vyas

94) ~ ~ \3U) 411R.r51if ~ 1ffmm rtr Wfq:c'qR41\jFlI0n-' rtr .ft~ c5t (i), (ii), (iii) \3fR(iv) -?r
~ M Tfm % I ~ <fr llt ¢4Iq~C\1-?r ~ BtI ~ qQillHl{ -

1) q'""lI«1l(l'l - 6l1«"ql(l'l, 'Cf){Unrn~, r;fi~ ~, '*I'1I{I<OIUI CllTB

2) \J1<01'"1I{I<OIOIczm:r, 4'""11(l'l1(l'l - €I l(Ciq l(l'l , 'tfr~ ~, Cb(onfB~

3) Cb'"{UT~, \J1'1Fm l;qU I CllTB, ~ W'l1RJli, q '""II «11&1 - €II(Ciq Iii .: ,

4) :cfr~~, Q'""lI«1l(l'l - cill~QI0, Cb{ullrnQ, \J1;Q11{I<OIUI CllTB

95) Which of the followingwater problems in Rajasthan is currently assuming worrisomedimensions?

1) Excessive exploitation of water

2) Increasing pollution of water

3) Increasing salinity of water

4) Increasing number of dark and grey zones

1) \JWf CfiT \£('r-~

3) \JWf ctr ~ w:ruTill

2) \JWf CbT ~ ~

4) 0i~ 0frr~ ~rnrtr ~ BW-rr
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96)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAIn terms of length within Rajasthan territory the correct ascending order of the following National

Highways passing through the State is -

l) NH No. 79-114-3-89

3) NH No. 89-114-3-79

2) NH No. 3·114-79-89

4) NH No. 89-114-79-3

1) ~ ~ "fl&:rr. 79-114-3-89

3) ~ ~ "fl&:rr. 89-114-3-79

2) >~ ~. "fl&:rr. 3-114-79-89

4) ~ ~ ~. 89-114-79-3

97) Major Lignite coal prddircil!l~ifields of Rajasthan are located in. -
''. .,- -, "-':.) <.~

1) Kapurdi, Merta and.Barsifigs;~ .2) Merta, Palana andSonu

3) Barsingsar, Augucha and Merta 4) Palana, Sonu and Kapurdi

97) ~ itWi''1I~c ~ ~ ..~ '~ ~ ~~ ~I

1) ~,it9m -0fR (§Hffi~lfI~ it 2) ~,-trorRT eftt ~ it

3) €HrollfH, ~ ~it9mif 4) ~,~ 0fR ~ it

(8) Match List - I with List - Ilan(l$«le~t,the correct.answer using the codes given below -

List - I List - II

(Mining Areas)
(i) Rajpura - Dariba
(ii) Nathra -ki - pal

(iii) Khoh '"Dariba

(iv) Bander - Sindri

(Minerals)
A) Copper
B) Lead and Zinc

C) Beryllium

D) Iron-Ore

Codes :-

A B C D

1) (i) (ii) (iv) (iii)

. 2) (iii) (i) (iv) (ii)

3) (iii) (iv) (ii) (i)

4) (ii) (iii) (iv) (i)
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98) ~ - I en) ~ - II ~ ~ ~ crm ~.fe:D; <flZ. ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq)f m CfR "Btt \3TP: ~ -
~-I . ~-II.
(&f.trr) ~ ~)

A) ~ (i) .~-~

B) mm~ ~ (ii) ;n-em - em - ~
C) ~RWt~li (iii) ~ -.CrtTm
D) ~-~ (iv)~-~

~:-

A B C D

1) (i) (ii) (iv) (iii)

2) (iii) (i) (iv) (ii)

3) (iii) (iv) (ii) (i)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

4) (ii) (iii) (iv) (i)

99) Examine the following statements regarding instruments used in chain and tape survey and select

the correct answer using the codesgivenbelow -

i) In Gunter's and Engineer's chain each link is respectively 0.66 and 1 foot long

ii) 80 Gunter's chain= lmile, 10 Gunter's chain: 1 furlong1nd 10 square Gunter's chain= 1 acre

iii) In highly accurate chain and tape surveying metallic or steel tapes are used

iv) In optical square both the rectangular mirrors are inclined at 55° to each other

Codes ;- ..
1) (i), (iii) and (iv)

3) (i) and (iii)

2) (ii), (iii) and (iv)

4) (i) and (ii)

99) ~ ntIT qffin ~a:ruTzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif ~ \jqCf)(uj'izyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAin ~..'[f if Pp"ifM{<~ld Cl?~ cpT tRTaTOT ~ (1l::iT "41ir ~ ~
~ Cf)Tm CfR ~ ~ 'gA1!; -

i) ~ \3fn: ~;:;;fjHtH~ if ~ ~ ~~T 0.66 \3fn:1~ weft mill ~
ii) 80~ ~= 1BWr, 10~ ~= 1~· ~locrf ~~; ll~Ch~ men ~ I

iii) 01Rf - m~ ~ (1m.t6Rrr ifcfaTOT if ~ \3i~ ~ tttm CfIf w:Wr fcmr iJffilT ~. I

iv) 1Tc:or~fttr 'ffi=r:rr (Optical Square)if ~ ~\lTCfiT\( ({quT CRm 5SO ChllJf 1R ~ tmi· ~ I

cpc :-

1) (i), (iii) and (iv) 2) (ii), (iii) and (iv)

3) (i) and (iii) 4) (i) and (ii)
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100) What type of obstructions do the intervening buildings and railway tracks create in chain - tape
surveying? Select the correct answer using the codes given below -

i) Obstructed vision

ii) Obstructed chaining

iii) Obstructed vision andobstructed-chaining both
IV) Obstructed magnetic north'

CodeszyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) (i) and (iv) 2) (ii) and (iii) 3) (iii) and (iv) 4) Only (Hi)

100) lWf it ~ C!Wr'qCf1 om tif ~ .-tfurr ~~ if fcntrzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAwm: rtr q'f~ ~ com~? -;ft€r ~
Tfq WC·,'COTw.frr CR" 00 \3m' ~-

i) ~~

Ii) ~~lWA"

iii) ~,~ om ~ ~·lWFf cJ;:rt
iv) ~ Y;tGle6!lI ~

WC-

1) (i)0fu: (iv) 2) (ii) ~ (iii) 4) . ~ (iii)_3) (iii) pm-(iv)

101) is the term given to the practice of illegally downloading movie from a website ?

1) Parity 2) Plagiarism - 3) 'Piracy 4) Privacy

101) ~ ~~ \jj) ~qHI~e ~'~ ~~ ~ .$1'31<*1$ ~ ~ ~M \JlKfi.~ ?

1) mtt 2) ~~ 3) ~, 4) ~

102) The contents of information are storedill ?

1) Memory data register

3) Memory arithmetic registers

2) Memory address register

4) Memory access register

102) iilt'1CfltDctr m+nfr ~ iJfliT m ~,~ ?

1) ir:frtT %eT ~

3) ir:frtT 01~ ~

2) wmr~.~
4) irTrtT~'~

103) \Vhich of the following is-~6rrect fhll form of BCD?

1) Binary Coded Decimal

3) Binary Coded Digit

2) Bit Coded Decimal

4) Bit Coded Digit

103) BCD c6T tftT ~ ~ ffi it B CfiR m ~ ?
r"~1) qr~ <;;f)1-5~ r;:~~

3) G!1~'ifi Cf~~S f%Rnc

2) -me ~ r;:~1'TfrfCT

4) ~~~

26-8 30



104) Main storage is also called?

1) Accumulator 2) Control Unit

104)~ ~ ~ ~cpm ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA%?

1) t:!6f4];McZ 2) ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

26

3) Register Unit·

105) The memory which is programmed at the time itts manufactured is?

1) ROM 2) RAM 3) PROM

105) ~ ~ ~ ~ 1R ~ ~ 'J!Tffi %, ~.~ % ?

1) ROM 2) RAM

106) What does CD ROM stand for?

1) Compactable Read Only Memory

2) Compact Data Read Only Memory

3) CompactableDisk Read Only Memory

4) Compact Disk Read Only Memory

106) mit -wr fcIffi ~ CIm1T % I

1) Compactable Read Only Memory

2) CfiiitCfC ~ Read Only Memory

3) Compactable ~ Only Memory

4) CfiiitCfC ~ Read Only Memory

3) PROM

4) Memory

4) iP:Trtt

4) EPROM

4) EPROM

107) Which of the following memories must be refreshed many times per second?

1) Static RAM 2) Dynamic RAM 3) EPROM

107) ~ ~ iFTIft%, ~ ..~ Wts ~ ClR ~~T ~ \ilRT ~ ?

1) ~ 1tr 2) sl'LHlfilCh ~ 3) EPROM

108) Hard disk is coatedin both side with?

1) Magnetic metallic oxide

3) Carbon layer

108) mt ~ ~ ~ q~1~ #rftffi m-d- % ?zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~c&-q mg 0licrol~g

3 ) Cl?!cl "l \:ffi1

2) Optical metallic. oxide

4) All of the above

2) i31Tf1c.CfW\ ..~ 0l16R11~S

4) 16Y;(Jchi .B~

4} ROM

4) ROM

1) Hard Disks 2) Flash Disks

109) Which of the following storage device can store the largest amountof data?

4) DVDs3) BIu-Ray Disks
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109) ~ Wrfum ~ ~ iT iT ~ %cT ~ "BGffi ~ ~T @ q;-{m~ ?zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) ~m 2)Wf~T~ 3) ~~~ 4) ~

110) Cache memory acts between_ ?

1) CPU and RAM

3) CPU and Hard Disk

2) RAM anii'ROM

4) None of these

110) Cache ir=fttt fcfl;, ~ ~ ~ cm<f ~ % ?

1) CPU i3fn: RAM

3) CPU '*{~~
2) RAM I3fR ROM'

4) ~ ~ til{ ~

111) What is a Compiler ?

1) A combination of computer hardware

2) A program which translates from one high-level. language to another

3) A program which translates from one high-level to machine level language

4) None of these

111) Cb"4I~«H q:m % ?

1) ~,~C@~~

2) iJaT~ ctT mm U ~ if '~ ftl:m: ~ >Tmm
3) l1~fRttR ~ m1SIT ~ \jttf' m ~~ ~f®J:' ~ ~

4) ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAc5rt ~

112) What does GUI stand for?

1) Gaming User Interface

3) Graphical User Interface

2) General User Interface

4) Guidance User Interface

112) GIJI cnr CRn -31ci mar % ?

1) irfWf ~ ~B

3) rnfct/;h~ ~ ~JB

2) ~~{c~

4) Tfi~~' ~c{q./,!

113) Which of the following entity does not belong to wordprocessing?

1) Characters 2) Words" 3) Cells 4) Paragraphs

4) ~3) ~
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114) FORTRAN is programming language. What does FORTRAN stand for?

1) Forbid Translation

3) Formula Translation

2) Format Translation

4) Fortune Translation

114)~R ~ >ihllfT:i~1~ t. ~ ~qm ~ ~ ~ ?

1) Forbid ~~R 2) Format ~~R

3) Formula ~!lR

115) Which language is directly understood by the computer without translation program?

1) Machine language

3) High level language

2) Assembly language

4) None of above

I ) 11~TR-'l1PSIT

3) ~ ~ Cbl 'l1PSIT

2) ~~

4)~' Cbl ~ -.m=

116) .The original AScn code used__ bits ofe:~ch,~yt~, r~,$,eryif1gthat last bit for error checking?

1) 5 2) 6 3) 7 4) 8

116) ~ Cbl \1fTq ~ ft;rQ: +wr ASCn. 'if ~'~ ~ ~. ,~' ~ _ ~ ~ ~ t ?

1) 5 2) 6 4) 83) 7

117)To auto fit the width of column, in Excel Sheet?

1) Double click the right border of column

2) ,Double dick the left border of column

3) Double click the column header

4) All of above

117) ~ !lITe if, ~ q5T ~ q?r 01Tir N?c ~ ~ fWr' ?

1) c5fuFf~ ~ ~ ~ ~ qf{

2) ,~ if; ~ m.n 'R ~ ~' qft

3) ~~'R~~~

4) \3q~CRi B'lfr

118)Which can be used for quick access to commonly used commands and tools?

1) Status bar 2) Tool bar 4) Title bar3) MelJU bar
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26 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

118) ~ tR ~«itfH1 commands and toolstR ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq§'q ~ ~~~l:fIi:1 fcnm i7i1T ~ ~ ?

1) ~ qp- 2) ~ ~ \ 3) ~ ~ 4) !lffi ~

119) 'Which of the following is not valid-version of MS Office?

1) Office XP

3) Office Manager

2) Office 2Q1O

4) None of them

119) MS ~ COT %~ ("1(4)(01 ~ it B etr.=rm .'1tT~ ?

1) ~ XP 2) ~~201O

3) ~ Manager 4) ~.~ ~.,m:
120)Which of the following function, provides alist of other words that those who are actually or nearly

the same meaning is ?

1) Find

3) Synonyms

2) Replace

4) Spelling and Grammar

120)ffi it B ~. ~Ff, ~. ~ !l~ ~ ~ ..~.'CfRffi.~, .GTI.·~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~'ifm "WMlT ~ m .'-3l~~ m-.~?

1) ~ ~) ~

3) ~!l~ . 4} ..••~ ~&W:fi{O(

121) A Digital signature is?

1) A bit string giving name Ofa correspondent

2) A unique identification of a sender

3) An authentication of an electronic recordby tyipgit uniquely toa key only a sender knows

4) A printed signature of a sender

121) ~ l%~C~1mmm- % ?

1) ~ ~ ~, vTr~ ~ em 'Wi %
2) ~ Wsrco em ~ ~T1Z ~

3) ~ !>ItfIO~qJct~~~ (~ ~.~ mtr)., \i'iJ ..fcn. ~ ~ m \i'!FRfT %,
4) 1:% m em ~. mmm-

122)How do you select an entire column?

1) Select Edit> Select> Column fromthe menu

2) Click the column heading

3) Hold down the shift key and click anywhere in the.column

4) Hold down the Ctrl key and click anywhere in the column
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122) ~ 0nq ~ m- ~ ~~'eom~ ?

1) t:%c enr ~ ~ > ir.t ~ > CfilWl ~

2) cnfwl ~lPSf l:R ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

3) ~NC ~ ~ W 0fu cnTwr if (5m m ~ rit
4) Ctrl~' ~ ~ \3fr{ C6y~~'if ~ ~ ~ q:f{

123) To create a formula, you first?

1) Select the cell you want to place the formula into

2) Type the equals sign (::;),to tell Excel that you're about to enter a formula .

3) Enter the formula using any input values and the appropriate mathematical operators that make

up your formula

4) Choose the new command from the file menu

123)~ ~ GRR ~~, ~ 0nq?

1) ~ ~ mrr if r&
2) ~ (=). ~ 0lltf.~ if~Rc1CbR[ ~ t I

3) ~ m ~ ~ B- ~...m ~~q~dtjftlldl~··~~i~~I{(.~.··.· .. ~
. Ii·: ~

4) ~.ir.tB-~"~~ , ,

124) Comments put in cells arecalled ?

1) Smart tip 2) Cell tip 3) Webtip 4) Softtjp

124) mrr it S1B lJl:!; ~ ~ qm %T \Jffi1T' t- ?.....

1) m f?;q 2) mtr Rtf 3) ~ Rtf

125) You can use the format painter multiple times before you turn it off by?

1) You can use the format painter button only one-time when you clickit

2) Double clicking theforrnatpainter bJtton

3) Pressing the Ctrl key and clickthe format painter button

4) Pressing.the Alt key and click the format painter button

125) 0ff1:f ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAifv: cn1f erR ~ ..Cf){ ~ ~, ~. ~ ~ B-zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq~ ?

1) 0nq ~ ifv: q(5f ~. ~. ~ t%. erR,tn1 \1ChiJ"~, \JIq i3iTq ~ ~. ~.

2) ~ m ~ l:R ·smrr ~

3) CtrI 5F'Ji1 ~ r& iiR qffifc ifv: ~ l:R fcRrrcn

4) Alt ~T ~ ciTiiR <Nitc:m ~ l:R ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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\

126) fcfffi ~~ it ~ ~ ~ - ~.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAi -

1) ~m 2) qrU

127) ~ cnr w.fiR ;;fflf % -

1) 36GIi:1ItI¢ 2)'krS"l ell tI C/?

3) ~m

1) ~

129) ~ qffTft % -

1) ~

3) .~2) ij~

2) q];:;q \J1;;q 3) ~

130) ~ ~.- ~ ~~T %-

1) ~ ~ ~ 2) ~~ i3l1'tl']I~cl'\ 3) r:re: .•~.~

131) 'CfiCCIQ"i'fll+ilfflCfi ~ it ~ % -

1) ~ 4) ~

132) ~ fmpffi ~TG3: ~ ~ chl ~ ~.M t -
1) ."flCRrq

~

~i-
I
I

3) ~2) ~

133) ~, ~, ~.~ ~WOITi -

,1) 1Wf~ 2) ~ mg;

134) '~' .~~ .%'. -

1) 'ffifl1i 2) ~

135) 'B' iNWT~·Rfm:r .~~. '1tl % -

1) \"i1~1i2<UI 2) ~WC1

136) ~ !?~ ~ ~ c6r .~ ft Btr ~.~.% -zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
" ',,', '-:i,;

1) WR - ~ + \3ffi

3) ~ -~+~

137)'~ &AT' .~ em i31ci % -

1) ~ em ~ iFrr
3) 9!r C:!?1T it ~.

'\ '"
2) CfiB1T."\"CfiR11 mr
4) ~ - .'gR •.+ i3l1Cr

2) GnBR~

4)~,~~

4) ~

4) ~~fr

4) ~
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1) ;zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA2) , 3) IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA4) A

139) ~ erreF1 ~ % -

1) ~ ~ ~ ~ fcbm I

3) m:M ~ qfq -?r.~ ~ I

2) ~ cffi{ CfITl1 ~ m ~ I

4) i3fI\jf -rrR-. cnr ~ t<r ~ I

1) cW

141) SlCfi~d ~ % -

1) zr

3) +:ffiTr2) ~

2) ~ 3) ~ 4) q

142) ~ + i3fR'1 ~TGC:~ ~ mtJt -

1) ~ 2) 1STCf'R'

143)~~8f ~TGC:1tf % -

1) ~'*

4) ~

2) dr 3) ~. 4) -&=r

144) ~ ~TGC: - ~ 1tf % -

1) ~ - ~ 2) ~ - frqur

145) Implementationcnr ~ qffi~ ~TGC:% -

2) ·~ef 3)~

1) ~ 342 2) ~ 343

147) ~ ~TEZ: ~ ~ -

1) AiTrr 2) ~rrcr

148) ~ cnr ~ W{ % -

1) ~ 2) f.if?qCfiI

3) ~ 344 ·4) ~ 345

3) mmfr:r 4) m=cr

3) .~ 4) ~

149) 'z;rm ~ qfq if r:rcrcm tITq' \~1ch)fcR1CfiTMCfici14 \)fer % -

1) fcnBT ~ Chi ~R Gf9T-~ \3Ol"ffi % I

2) ~ ~ ~ m~ rir2i ~ ~ :IW #r \JlTffi % I

3) ~ M~ CfiT ~ 1i524'r iFlfcr C{)@f % ill i3WfiT ~ ~ ~ % I

4) fcnBT .Cf)Tq eN m if ~ ~ ~ ~ ~~ tR mer ~ m c6r ~ ~T \JffilT % I

26- • 37 p!t.o.



26zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

150) ~ - ~ Wl1 COTi3l~ ~ -zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) ~ --wmm:
3) ~-~~

2) WTRIR - %

4) ~~-~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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